





Llenb ypoka:
- obobuweHue u cu
Nno Teme.
3aaauum:
- NOBTOPUT

OGopyaoaaHue :
NHTepHeT-pecypChI.







log 1=0

npu x>0 u y>0

log a =1

log x +log y = log (xy),

og X - log y =log (x/y), x>0 my




d3amesisd cmerieHu Ha

o151 mroboac

log x= llogax
a n

log,x

(x>0,a>0ua¢1,b>0ub
log,a

log x =

x> = 2nlog |x|,(n € Z)




AYEeCKaA




CBoliCcTBA

pyuxkuuun:D(f)=
O0.1acTh 3HaY

bynkuuu: E(f)=(-

BCeil 001acTH onpen
npu a >1;t.e.
log,x, > log,X,,x

DyHkuus yobiBa
o01acTu onpeaesae




He umeer HU
Han00JIbLIIEro, H
HANMEHbIIEro 3H
6. HenmpepsiBHA

7. He siBJIsieTCd H
HUM HEYETHOH




. f(x) = log,, g(x)

log, f(x) = log,g(x)

2, f(x) = log, g(x)

= (flx)=g

J(x) =0,
F(x) =0,

A

la>1.
[ f(x) = g(x),
J f(x) =0,
Z(x) =0,

a>1.
.

= (/1) = g,










YpoBeHb
1 ypOBEHb
2 YPOBEHb

3 YPOBEHb






